SROUEE Bk FH OO &

FEMES (HE RN O {EE LS Te) ¥224, 026, 000

ARG K S il Kt Z80s (Ae]) T 5

=X
AR
Rl
T4}
<o
T
——

=
=]

R U YA 7 B Gtk Lgr

BitH

N S5

B

T N R 7KEER K E

Tl
HH



user
テキストボックス
１



BEE G KGRl K g (BufFT) T =+ X at &=
4> M (NFPER L L & M) BEFEWI LR Co's —1—5%
ZET R (HGERE) EH% (R
T & 4 i TR~k HANT ‘ \ i
g & Ll (F9) 4 B g & Ll (F9) 4 B
1. 2= - & T %= Y 1.0
2. L 7% Bl B L | WA ¢ 350 =Y 1:0
3. R BRI A TE AKAEERR = 10
4. B oK woBT T & = 10
B ¥ L f %
* @ BB = 1.0
A (HEERE) B SR
T & 4 i FEAR <1 AL \ \ [
# & B (H) 4 () # & B (H) 4 KD
Wi T = O#
BB % #H # = 10
T #F B L
— & F B & B2V 10
—E = 10
o om o fE # B2V 10
T HF i &
- T F2V 10
KX T HFH




1. e - T

T ® & F &
Co 2,329t
BEFEM LB A 6.0t
—4 as| (NFRFER A ) # 12.0t — 15—
AT (FAEERE) % (HEE)
T f& i TR A HAL ‘ \ i &
¥ & B A (F) 4 () ¥ = HL il (F9) 4 E(m)
1) A ¢ eV 1:0




ZE BRI (FEHEE)

ZH R (KR

T |4 Rl FRIRSTEE HAAT B i
¥R L i (F9) 4 FEH) & Hf () 4 )
D) - S T
oM W+ T 20tk m 1400:0
T
B oW o OHl LT BFO. 81t m 1900:0
WEARE
+ wW E # |10t L=2.0kmLF| mi 680:0
T
o O R L BFO. 8 m 4000:0
T
J& A4 L+ AL P T|10t L=2.0kmPLF| m 280:0
Sy s )— REEELT #5227 U — R ol 99o§o
B s U — b ;
BE OH#E M) W 10t 1=2.5kmBlF| nf 9900
PEOBE W Sy BISGarsU—F t 2329?0
A S S 1 * 50
it
AR ARNPNIRR i 2650
A
BE H#E M) W 10t 1=3.5knBlF| nf 9:0
BB M 4y B KT ¢ 6.0




ZE BRI (FEHEE)

ZH R (KR

|4 Rl FRIRSTEE HAAL ‘ \ fits
¥R L i (F9) 4 FEH) ¥ B Hf () 4 )
o B ® T Y 1i0
N BB R L Ko I 1:0
A
MO B | ®BEY 30k K 3i0
A
MO B | BEY6e0en AN K 10:0
A
MO B | ®BEY 90 AR | K 25:0
e ® e & 10:0
N 180H 104
Box # K O OBH1,524%x6,069x10 T 1:0
HBEHEEIAARTL ® 350 m 6050
HBEHEEIAARTL ® 250 m 133%0
AH =T NES LT ® 350 M 10%0
AH =T NES LT ® 250 M 3o§o
FE OH#E M) W #E10t L=7.0knBlF| nf 13:0
BEBE L S B T ¢ 1200




ZE BRI (FEHEE) ZH R (KR
2 /NNRES HLAL

%

e

B () & #HD) %

feim

HL Al (F9) a #(H)




28

2. Bl

(PFFER S A B

)

BEFEMMLIR As 3.0 t

ZE SRl (GG

ZH % ()

T FE i IR~ 1E BANT g i
= A (F9) 4 ) e iy B (H) 4 )
D& %) = 1%0
2) % B X 1%0
3) L T = 1%0




ZERHT (FHEERE) L% (FEHER)
T O 4 BoOReRE N | i
A A (F9) 4 ) b s B A (F9) 4 B
(XK ¢ 350 )
) &M
20 I TR /s B N K 3f& {
A % $350X6000 A 160
N B R KJ¥
i B $350%X90° 1 1:0
NoOE B K
ify & $350x45° 1 250
N B R KJ¥
B 1 B $350 i 10
NoOE B K
BOF 2 B 9350 1A 10
N B R KJ¥
ik ® i 6 350 1 10
I S ¢ 350 . 180
FCD 7.5K WAL
V7 kAR $ 350 e 20
P 3
= g o E N EHEH *H 20
DIPSH W
WPk T 5 %  $350x350 20
W om R DIP
A Wk X v T ¢ 350 & 2.0




ZEWHT (HEERT)

ZH % ()

& o BIRSTE H{Z i
& B i (F9) & B ¥ & B Al (F9) & BH)

AN & 4R DIPA BEBLLE 5

i lE ¢ 350 # 2.0

P+B.N+2W

7 T v VB A 350X T.5K/RF i 2:0

DIPH

YRy KR ¢350X50 1 10

AR—

Ik 7k i ¢ 50 {F 10

AV xzF L UF ¢ 50 m 550

Sy AR Y 4 b 6 50 18 310

INES A VZAVY AN

MR R Ak v — b W=15cm m 72§o

N ® &% ik DIPA

WK ST ¢ 250 1 10

M E &k DIPF BEBLE

i lE ¢ 250 # 10
/h i




ZHHT (HEER) T % OREELIE)
4 o BIRSTE H{Z . N . B
% = B i (F9) 4 () ¥ & B Al (F9) & BH)

B B B A B T ¢ 350 m 4110
Bk E U)W T ¢ 350 M 5§o

HEBLALT:
A =T NVHETFET ¢ 350 M 18:0

BT
A H = H VAT T ¢ 250 H 1:0

7.5K

7T v UMTE L ¢ 350 M 1:0
KY=FLUEARE 650 m 5.0
A Y T F L BT 650 = 310

DIPJH ;
Wk H & T ¢350X350 = 2:0

DIPA Z
AWK LT BT ¢ 350 M 20

DIPSH ;
RISV 7 T ¢ 250 N 10
{91 Fp 9 T f8f 7 10

DIPJH E
P RASRIHSAT  $350X50 | i 1:0




ZEHERT (A SHY) AW (R
4 OBRSHE S B . . i
s i fifl (F9) & B % R i fifl (F) & B
PP :
Ik ok B BA T ¢ 50 m 10
BRHRT -7 T ¢ 350 m 72§6
MR R Ak v — b m 72%6

/A i




ZEWHT (HEERT)

ZH % ()

T f 4 /NI 2 /N TS B fid
&= Bl (F) & B ® = B il () & BH)
3) T
As {
S4B D) BT T t=15mM T m 60.0
& £ fil| As 1" 97850, 3517
BHEAN - BOAT t=l0mBl T nf 230
Ny 7R Y
B OSE + B GA T 0 sniem od 169:0
BB T f
B§ M B R L T ys90.35mim-9M m 147§o
N9 IH90. 351887
o+ AL H L o Looe b 23;0
B # W E M Loy a9 1=2.0kn| 10
TAT7 Wb
e S W AL B B S0emfALLT |t 310
FFAERE RC-40 f
T B oK & T t=30cm i 23§o
YLAREA C-20
EOE % % T t=12m nt 230
P A A (13) f
e # 1B T t=3cm i 23§o
B A
1 7 T F#E2.5m | m 726

10




N

RARSTE

HAL

2SR (GG

N

W

CREFLE)

=N

e

HL Al (F9)

B

#

feim

HAfl (F9)

&

® (M)

i

7N

11




3. X ERALRR

.................................................................................... L & £ X =
—4 M (R R 2 M) —1 5FE—
ZEWERT (FHEERE) EH% CFEEEE)
T ff 4 i AL - g - -
¥ R B A (F9) 4 ) ¥ = A (F9) 4 g
D& %) = 1%0
2) % B # X 1%0

12




2SR (GG

A CREFRE)
T 4 i) Wkt | ) \ fi
= B A (F9) S (D) o & HE A (F9) @ #E)
) Bt
CVVS-MAZV 5

=7 2sq-2C m 262:0

MBS — b 150  2f% m 121%0

b= AT IR N 1o

/N 7

13




2SR (GG

/T(
£ R AR~ BAAT
=3 Al () 4 ) =
CVVS-MAZV B3R

r—7 VAR T 2sq—2C m
HER Y — MR L m
TR T KT

/N 7

14




4 . Be/KAAT

I T
#(jé Fq (R R L M) FETEMALER B+ 4961 — 1 5F£—
EHET (FFEEE) WL CREFEE)
T & g HANT ‘ \ i &
P B i (F9) 4 FE(H) o & Al () 4 )
1) BT *+ Y 1:0
2) |+ *+ = 1i0
3) | % T = = 1:0

7N

15



ZE SRl (FREHRF)

ZH % (RS

[2/6]

T f& £ 7 FEAR <1 BALT I S
0 B Bl & M o B Bl K |
1) FLLE B
PHCAL ¢ 700
FEERT BfE L=10m PN 80.
PHCAL ¢ 700
FEERT BfEi L=9m PN 4.
frfEl L H 23.
IR L AR—H— ¢ 700 1 84.
[=]di5 4 H ¢ 700 {[ES| 84.
310mX1.6t/
PEEFEIEMAIET. m=496 t t 496.
T H 31.
AR AR =S AT RS H 31.
Kt R B —vy— R A 31.
Kbk R —oy— AT H 31.
PR R Ry b | 31.
R R I A 31.
B E R A sty 7 A 31.

16




ZE SRl (FREHRF)

ZH % (RS

[3/6]

Tl 4 7 V22 NRIRES AL i S
0 B Bl 4 % o B B 4 £

MRS R | 31.
TSR - EER AR H 23.
AR | 23.
JE G ERAR AR | 31.
= AR R | 23.
FERRAREF N9 -

YAz N A 8.
KA A 31.
VI 9 FXT" T b

e | 31.
2T Rl SN t 214.
BRI b A b 48 168.
NE I N == N = 1.
Ve K Ef A t 89,
[ R B

T E = 1.

17




ZE SRl (FREHRF)

B (R s
WAk .
HOR i & #of o &

18




AR (I I (R [5/6]
T ff 4 b V22 NRIRES AL i £
¥ & Bl Ko | ¥ B B 4 A
2) +T®H i e+
P L
F AR IR I T 0.8m3 HE1" = 8, 700.
V=2 [UFE
0.8m3 HEL Xt
R & T R BT 3, 800.
FEREIE T AT 1, 120.
T RT
2710 t 4
AL T L=2. Okm 4, 900.
7N

19




[6/6]

ZE SRl (FREHRF) ZH % (RS

T & £ R TR~k BALT I S
¥ = Bl & % ¥ = Bl 4 £
3) AR L5
FaEea T RC-40 t=200mm | nf 1,113.0
BlLarrz—F
e T M) n 17.0
BlLarrz—F
T 18-12-40 m 120.0
N B
Htr e & E
Ty E I E 2 H 23.0
PR A R L [ 4.0

20





